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1. Which one is the solution of this differential equation?
1+x)dy—ydx=0
(@) y=c(l+x)
() y=clIn(l+x)
(©) y=c(l+x)’
(d y=Itx)tc

2. Find the critical point(s) of the differential equation % =V~c+mP where ¢ and m are

nonzero constants.
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3. Which one is not the exact equation?
(@) (5x + 4y)dx+ (4x —8y3)dy =0
®) (x2—y¥)dx+ (x? —2xy)dy =0
() (x —y® +y?sinx) dx = (3xy* + 2y cosx) dy

@) Bxly+eY)dx+ (x> +xe¥ —2y)dy=0
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4. Which one is the linear equation?

(@ (1-x)y" —4xy' + 5y =cosx

ddy (dy\*
®) ‘a‘(a;) ty=0
d*u du
(c) +-d—+u-cos(r+u)
d’y l /dv\

d) —— =11

@ dx? \I \dx /

5. Which one is linearly independent of the given set of functions on the interval (—oo, 00)?
(@) fix)=x, HE)=x% fx)=4x—3x>
() /ix)=0, L)=x, filx)=¢€"
©) Ax)=1+x, AE)=x, fi(x)=x
(d fi=x, Lx)=x-1, fix)=x+3
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1. Find the general solution of the nonhomogeneous differential equation.

y' — 4y + 4y = 2e* + 4x — 12

s+ 6549 }

2. Evaluate Q"l{(s_ DE-2G+4)

3. When a =2i+4j, b=-i+4j, find (a) 3a,(b)a+b,(c)a—b, (d)||la+b], () |la—b],(H)a-b,
and (g) a x b.

4. 1 A= (; i) and B= (2 3) find (a) A + B, (b) 247 — B, (c) AT(A - B)
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5. Find the inverseof A=|-2 1 1
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